Lec9 o EEERNAHI IR
1 1A EE (Darboux)

& f(x) £ (a,b) LT F, 0
1. f'(z) & (a,b) F R F— LB &,
2. BpAE f(x) £ (a,b) P RELf (z) £ (a,b) FPVHRAIEME G RAEE.
3. & f'(z) #0,Vz € (a,b), WEA f'(z) > 0,Vx € (a,b), B4 f'(x) <0,V € (a,b).

RFEAMENE, BN TER f'(a) <v < f/(b), FEE € (a,0), B f'(§) =

T fa) < f1(b). BLFERBEREN: f(a) <0< f(b), BF
i ST = p@ <o i DO < s>

FTUFEESN >0, FHFEY 2 € (a,a+6) BF f(z)— fla) <0, B f(z) < f(a). FIE, % 0y,
FBRY 2 e (b—05,0) BA f(z)— f(b) >0, EEEIE 2 € (b—59,0), TS z € (b—dy,b)
B, f(x) < f(b)o FHILEE fz) I3 H a, b T & f(z) £ [a b LEIR/NME, BB A f ()
% [a,b) W — & ¢ BAEH/ME, KB Fermat EEA f/(¢) =
T —fER, EB f(a) <y < f(b), 4 glx)=f(x ) vz, W g(z) X [a,b] £7
5, B
g'(a) = f'(a) =y <0, g'(b)=f(b)—v>0,

FTUAE— B €€ (a,b) 7 ¢(€) =7.

9.2 {5

151 9.1 IE A
1. f(z) EXA T EAWBRE < f/(x) =0,V € I,
2.4 f(x) > 0,V € I, W f(x) £ T b K BRI HGA0.

.= f(x)=C= f'(x) =0;

f(@) — fy)
T -y

— F(&) = 0= f(x) = fla),Vx € I :=[a,}].

2. fllx) > 0= =f'(€) > 0= f(z) > f(y),Vz > y.
1511 9.2 YIF A
1B ARz WOIEEE, H f(2) 78 2o IAFEAE, 35, f (o) AT UAAAELE, W f(z0) N f BIRRAE
=%



3.4 f'(:vo) = f”(xo) = O,f”’(xo) 7& 0, ) f(l'o) A& fHIRRAE AL

1. A& f'(x) < 0,Vx € (29 — 61, 0),f (z) > 0,V € (zo, 70 + 02), Wi AL W, f(x) &
(zo — 01, 0) L/ R, & (20, w0 + 05) L/ E R0, FTLL f(20) AR/NMER.

f'(@o + Ax) — f'(x)

2 o) >0, FE 50
I (xg) = 0,Vx € (xg, 0 +9), f'(x) >

3. ARK AT IR I T 7 4P Sk 0 B0 75 5 B ]
1§U931IEE93U\FT =

1.

<tanﬁ—tana<

f'(wo)

O<a<ﬁ<—

f"(xo) > 0= 36 > 0,V € (xg—0,x0), f'(2) <
=0= f(ZE()) AR /NME .

cos? o CoS ﬁ 2’
2. T (14+2z) <z,x>0.
3 i
3.t - — —.
anr > x 3 3,O<x< 5
4, (a).x—%<sinx<x,0<x<g;
x3 AR T
b - =< <T— = O0<z <=
(b). = i sinr < x i + — =k T 5
o B S ' I S 9 .
(©) x—§+a—ﬁ<smx<x—§+g—7' o <x<§
tan f — tan « 1 1 tan  — tan « 1
l 3 E 3 9 = t ! = J—
5 ( B) B_ ang 00825 cos? o 5—04 C052€
! foa f—tana < 22
an f — tan « .
cos? B cos?a cos? 3
. . 1 .
2. PG f(z) =2 —In(1+2) >0 (BN < RAy,1+y = T BUAE).f/(z) =
1 T
— = >0 = > f(0) =
1+2 14z f(@) > f(0)

3
3. /—é\f(x):tanx—x—l—%. fl(r) =secz — 1+ 2% =tan’x + 2% > 0= f(z) > f(0) =

=z —sinx. ¢'(z) =
3

4. A g(x)

1—cosz = 2sin2§ > 0= g(z)

> ¢(0) = 0.

1
A h(z) =z —sinx — %, h'(z) = 1—cosx—§x2,h”(x) =sinz—z < 0= h(z) <h(0) =

0 = h(z) < h(0) = 0. % He 84 ] 32 7 3EF.
f519.4 3K f(x)

tips: BREFE R LT, e Rl 24 72

=o' — 227 + 5 7£ [-2,2] LR '?B%/ME

fif AR EBPTHGFRA 0L, FARBELTE, ﬁdk&:l%‘?,éé@i;éﬂﬁ, Elﬂikfﬁiﬁ N ﬁiB’P

.

fl(z) =42 —do =42(2* = 1) =0 = =0, %1.

f(=2) =13, f(—
PTVASR KAA A 13, s IMAA 4.
2 1Bl ex3.3:4(4),17,19(1),21(2),25,26.

1) =4, f(0) =5, f(1) = 4, f(2) = 13.
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